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Section A (30 x 2 marks)
For each question 1 to 30, four options are given. One of them is the correct

answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or4) in
the Optical Answer Sheet provided.

1. Johnny studied a population df'pytﬁoné over a few weeks. The graph below
shows the change in the population over some time.
A "

Nurber of
pythons

-

Number of weeks

What could be the possible causes for the change in.the population of
pythons as shown in the graph above?

A: Anincrease in the number of predators in the community,

B: Anincrease in the number of prey in the community.

C: There was a natural disaster in the area. -

D: A disease killed the plants in the community.-

(1) AandB only
-(2) AandConly

(3) A,BandD only

(4) A, Cand'Donly

2. Sally found some organisms in Location Y. They are listed below :

earthworm . woodiouse anf..
beetle mimosa femns

Which one of the habitats were the organisms likely to live in? o

(1).mangrove swamp
(2) banana plant
{3)-garden

{(4rpord-




3. A group of pupils made a study of the orgénisms found in their school pond.
They counted the number of organisms and recorded the findings in the
classification chart below.

Polnd
Plants _ ': Animals
| | l\ |
floating partially fully T near the  justbelow inthe
submerged  submerged : pond water surface- water
3 . 2 3 : 3 2 5

Which of the following statements about the plants and animals is definitely
correct?

(1) There are 18 plant popuiations in the pond.
(2) There are 2 populations in the pond.;.

(3) The duckweed and water fiyacinth are 'ﬂ’oaﬁng‘ plants found in this pond..

(4) The community consists of different types of organisms.

4. The table shows 5 set-ups in a Science laboratory. Hiroko used them to find out
how a certain condition of a habitat affects the survival of woodlice.

Set-up Number of Temperature:{° C) Food

| woodlice
A 10 ‘ 23 Rotting plants
B 5 23 Rotting plants
C 10 : 27 Dead leaves
D 5 : 27 Rotting plants
E 5 5 23 Dead leaves

Which two of the above set-ups should Hiroko use in order to conduct a fair test?

"
-

(1YAandC
(2)B and B;
(3)Cand E
(4)DandE



Which-one of the following statements best describes how'the water lily is able
to-obtdin sunlight?: :

(1) The leaves have a waxy surface.

(2) The leaves have more stomata on its underside. g

(3) It has long flower stalks that raise the flowers above the water surface.
(4) it has long leaf stalks that allow the leaves to float on the water surface.

The diagram below shows a food web.

Cricket > Rat — »  Owl

}

Grass'———» Sheep ———— Wolf

L Which of the following animals do not have a predator-prey relationship with
each other?

(1) OW and tat

(2) Rat and cricket

(3) Wolf and sheep -

(4) Cricket and owl

The.food web befow-shows some organisms in a garden.

Maizeplant_________,  grasshopper ———» Q

et
N

Which one of the following organism groups does P,.Q and R possibly :
represent?

T Sparow | Pravies Mo | e
@ Aphid Praying Mantis Hawk |
© Mynah Rabbit Ow _
(4) Lizard Sparrow Eagle




The food web given below shows the organisms in a farm.

Plant ——»  Strail —— o Ddck —— Fawk

Which of the following statements best_ describe the food web?

There are 4 food consumers.

The snail is both a prey and a predator.

The fish is not a prey to-any predator in this food web

An increase in the fish population will cause a decrease | in the snail
population.

eowx

(1).Aand B only
(2) A and D only
(3)B and C only
(4) C and D only

The food web below shows the organisms in a garden community.
aphid — ladybird

\

Plant ——» caterpilla—  bird

Whitefly .  spider

Which one of the following groups of organisms will decrease in number if
there is an increase in the bird population?

(1) Spider, caterpillar and fadybird - -

(2) Spider, whitefly and caterpillar-

(3) Whitefly, caterpillar and fadybird .
(4) Whitefly, spider, caterpillar and ladybird



10.  The table below shows the organisms that are found on a frunt tree and the
food they eat. : Do

Which one of the foilowmg food webs below shows the food re!atlonshlp of
the organisms?

O ),




11.

12.

13.

. A: flippers

Which ad-aptatibns egabl_e the whale and dolphin fo live in the water?

B: webbed feet
C: streamlined body shape
D: ‘blowholes located at the top of the head

+ (1) A and B only

(2) B and C only

(3) C and D only

(4) A, C and D only

Which one of the following statements correctly describes the behavioural
adaptation of the animal?. o

(1) An eagle has sharp claws to catch its prey.

(2) An owl hunts at night as it can see very well:

(3) A desert fox has long ears to reduce heat loss. .

(4) A polar bear hibernates in winter to avoid the low temperature.

Which of the following organisms use poison to kill their prey?
A: scorpion

B: jellyfishr

C: crocodile

D: falcon

(1) A and B only
(2) A and D only
{3) B and D only
(4) C and D only



14. The table below shows the functions of the adaptations of four animais.

~ Turtle

A -.To propel its body for.Ward
Crab B e 'F'c‘i-éilowtheéxch'a‘hge?of gases
Fish C To overcome water-resistance
Seal D To 's’tay_aﬂba:f e

Which of the following correctly represents A, B, C and D?

A B C D
(1) jShorttail | Swim | Scales | Layerofgat™
| ~ | bladder ’ A
(2) | Shorttail | Gills | 'Scales Hairy body covering
(3) | Flippers Swim Streamlined Héiry body covering |
bladder body
(4) | Flippers Gills Streamlined Layer of fat
body

15. How do money plants adapt themselves to grow upwards to get sunlighi to
carry out photosynthesis?

(1) They have woody stems.

(2) They twine round supports.

(3) They have tendrils to help them climb. .
(4) They have roots to help them climb. - o




16.

17.

The graph below shows the processes water goes through over a period of time.

Temperature o

¢C)

0 .

Wh_iéh line shows that boiling is taking place?

(1)
2
(3
“4)

AB
BC
CcDh
DE.

» Time (min)

A group of pupils decided to carry out an experiment to find out if the exposed
surface area of a beaker affects the rate of evaporation.

. JC

)

Set-up A Set-up B Set-up C Set-up D
The table below shows the variables used in the four set-ups.
A B C D
Amount of water 150 ml 160 mi 150 mi 150 mi
Surface area 40 cm? 40 cm? 60 cm? 60 cm?
Temperature 25°C 38°C 30°C 38°C
Speed of wind 10 kmv/h | 20 km/h 10 km/h 20 km/h

Which two set-ups could the p_upils use in order to carry outa fair test?

(1)
(2)
(3
@

A and B only
A and C only
B and D only
C and D only




18.  Alan wants to cut down on water consumption in his household and did a check on
' the ways he uses water at present. Which one of the following practices is not a way
to save water?

(1) Using a%osd to water plants.

(2) Using a pail of water to wash his car.

(3) Turning off the tap when soaping during his bath.

(4) Using a cup of water for rinsing when brushing his teeth.

8. The graph below shows the amount of oxygen in four blood samples taken at the
same time from four different blood vesselsin the: body &

- Amount of 4

Oxygen
(ppm) ]

—T

[

r B G D *Blood samples'

The diagram below shows how biood is circulated in our body.

Lungs
h
R S
4
Heart
F
Z T
Other parts of the body

~ Which blood samples (A, B, C or D) shown in the graph were most likely taken from
parts R and Z of the circulatory. system shown in the diagram above?

(1) AandBonly
(2) AandDonly
(3) BandConly
(4) CandD only




20. The water-carrying tubes in the stem transport

from the

roots to other parts of the plants.

(1) water

(2) nutrients

(3) {food]and water

(4) -water and nutrients

21. . Study the classification table below.

Organisims

Hibiscus
Water lity
Earthworm

Yeast
Amoeba
Paramecium

Which one of the following options is most suitable to be placed in Boxes A and B?

A B
(1) Live in Garden Live in Forest
(2) Living things Non-living things
(3) Have many celis Have one cell
4) Can respond to changes Cannof respond to changes

22.  What do we call a large group of simifar cells?

(1) Nerves
(2) Tissue!
(3) Organ
(4) Skin

10



23.  Which one of the following statements.is false?

(1) A cell can perform several functions.
(2) Al plant cells contain chloroplasts. )
(3) Organs are made up of cells.
(4) A cellis the basic unit of life.

24. The diagram shows part of an island, 1 year ago and at present, where twa types of
_plants, A and B, are growing. ke P

. - .. ® i_egend:
. @ Young Plant A
. - . . . g
: ' . Matured
. . Plant A
river , river L
\’\_—_ m’\——- B Young Plant B
’ ® _
® >
.O ] Il Matured
' Plant B

1-year ago At present

Which one of the following is most likely to-be the dispersal method for these .

plants?
_ o _ |
(D Water Explosive action
{2) Animals Wind
13 ANater Explosive action
® PR P
(4} Explosive action Water

11




25. Noel germinated some seeds and recorded his observation in a table as .sho'wn

below.
Observation _ Da).rﬁ
Seed becomes swollen 2
Seed coat breaks 5
-Root appears . 7
Shoot starts to appear 10
Shrivelled seed leaves drop off 17

On which day will the seedling most probably be abl;e to photosynthesize?

(1) Day$5
(2) Day7
(3) -bay?
(4) Day16

26. The diagram below .shows Mr and Mrs Sim’s family tree.

Has naturally curly hair l ] ( ) Has straight hair
and dark skin

and fair skin
585 b p [
Jack Mary Jenny . Matt
. D Male
Has straight  Has naturally  Has straight Has naturally
hair and curly hairand  hairand curly hair and O Female
dark skin dark skin  dark skin fair skin

Which one of their children inherited fraits from onlﬁr one of them?

(1) Jack
2) Matt
(3) Mary .
(4) Jenny. - -7

12



27. The diégram below shows 3 generations of Mark's family that carry the genetic trait.
for Disease X.

Legend:

O Female

Female carrier of Disease X - Male patient of Disease X

Which of the following statements can you conclude about the family.tree?

A: Mark has a cousin with Disease X.

B: Mark's mother inherited the genes of Disease X from his grandmother.

C: There is a possibility of Mark's sister bearing a son with the disease.. .. -

D: The genes of Disease X are passed on to only the female members of the
family. - :

(1) Aand C only

(2 AandDonly =
(3) BandD only ' _ !
(4) A, Band C only ' '

13




28. The diagram below shows an electric circuit.

.,___l|‘5
;'S'tch’l ¢ ‘
. WI :

B

Switch 2
/

Qg) Switch 3
——
A

in which order must the switches be closed so that Bulb A lights up first, followed by -

Bulb B and then Bulb C?
First switch to close Second switch to close Third switch to close
(1) 2 1 3
(2) 3 2 1
(3) 2 3 1
(4) 1 3 2

14



29.  In which of the following circuits will the bulb not light up?

Circuit A

| S

Circuit C

(1)
(2)
3
(4)

DOw>

- 15

Circnit B

;@

]

]

L]

Circuit D




30. Study the circuit diagram below.

Which bulb, if faulty, would allow only one other bilb to light up in the circuit?

(1) BulbW
(2) Bulb X
(3) BulbY
4) BubbZ

16




Name : - ( b

Class: P6( | ¥

Section B : 40 marks
Read the questlons carefully and write down your answers in the spaces provided.

31. 'Tommy wanted to find out more about two types of organisms, A and B. He divided

(a)

®)

(c)

a rectangular container into two sections, 1 and 2. .

Section 1 was filled with wet soil and covered with black paper. Section 2 was filled

~with dry soil and left open. Both types of organisms were released in the centre of the

container as shown in the dlagram below.

Section 2

After 30 minutes, the number of organisms found in each section of the container
was recorded in the table below. :

i Describe the characteristics of living:conditions of Section 1. . [1]

" What could Organism A be? T I I {1]

.What would happen to the population of Organism Aif it is p[aced in Sec’uon 2fora

long period of tlme’? Explain your answer.

{2}

17 -




32. The graph below shows the popula’uon of lions and plants in a forest over many

years.
Population 4 Plants
size
Lions
Number of yea;;
© (a) _What do.you no’gic;e'about the population of lions aftey_‘ PointB?. - [1]

(b) Do you think the plant-population has an effect on the popu!atlon of Iions’7
Explain your answer. _ , (2]

18



33. A farmer wanted to get rid of slugs that were eating up his crops. He tested a new
pesticide on his field. The number of slugs killed increased with the same amount of
pesticide used. After some weeks, he found that the number of slugs kilied began
to decrease. He recorded down the number of slugs and the amount of pesticide
used in the table as shown below.

1 30 200
2 24 200
3 20 200
4 : 14 200
5 17 200
6 22 200

(a) Based on the information above, draw a line graph to indicate the change in the

population of the slug.

Number
of slugs .

[1]

[
>

Number of weeks -

(b) .What is a.possibie reason for the number of slugs to increase after Week 47 [1]

19




34. Andrew set up an experiment to find out which conditions were most suitable for
plants to live. The sef-up consisted of five bell jars containing a plant each. Each
- plant was given a different set of conditions. All the plants were identical and

healthy at the start of the experiment.

The table below shows the conditions given to the five plants.

| Wé’ger Not present | Not present | Present Not Present
: present
| Oxygen | Present Not present | Present Present Not present
Sunlight | Not present | Present Present Present | Present
Fertilizer | Present Not present | Not present | Present Not present
iCarbon | Present Present Not present | Present ~ | Present
Idioxide '

(a) Which two bell jars of plants would be stitakle to show that water is needed for the

20

plants to make food? EXglain your answer. [2]
(b) Besides water, wihiit €lse do plants néed to take in to photosynthesize? [1]
3




35.

(a)

" Amy set up a freshwater aquarium with a fish and some water plants.

State 2 reasons why she put water plants in the t-_ank. -2

)

Amy’s father caught a small fish when he went fishing out at'sea. Should he placé :
the fish into Amy's aquarium? Explain your answer . [1]

21




36. There are four organisms in the. box each represented by an: alphabet Complete

the food web below by
‘e wiiting only the: a!phabet representing the organism in the circle
provided ~
s draw arrows to indicate the food relatlonshlp between the organ:sms
: : 2
A :-Caterpillar
B: Grass
C : Chicken
D : Earthworm -

22



37. Study the food web below and ansWer the questions.

Algae \ '
. Guppy

Tadpole

Dragonfly nymph <————— waterflea

/

" Elodea ______,_._————r | Tilapia

(a) Identify the con_'lmunity of the above mentioned organisms. 1]

(b) Based on the food web above, name

(i)  afood producer = [1/2]

(iiy apredator : ‘ | | [1/2]

(¢) What will be the immediate effect if all the algae are removed from this community?

(1]

23




38

(a).

(b)

Some desert plants have the following adaptaﬁonsrto survive'in the desert.
Explain the function of these adantations.

0) | | i)

A camel is able to survive in a desert. State one édaptétidn that eriébles the cametl -
to survive in the desert. B _ 0

24



39. State one adaptation of the monkey and polar bear that helps them fo live in its
habitat. _ 2]

Animal Habitat Adaptation : . Function of the
ada}ptation '

Monkey Forest

Polar Bear | The Arctic

25




40. ' Danny sets up an experiment as shown in the diagram below.

-

Crushed ice

_Water ' =

!

(@) How can Danny lower the temperature of the crushed ice? ' (13

(b} ‘What change of state is likely to take place to the water in the test tube after some
time?  ~ : [1]

(c) ~What had caused the change in (b) to take place? [1

26



41,

Mr Johnson wants to set up an electrical circuit such that a lamp and fan can
continue working even when either one is out of order.

In the box below, use symbols to draw the circuit to connect ‘the lamp and fan that
Mr Johnson would set up.

i2]

27




42,

(a)

(b)

43.

(@)

(b)

Jason carried out an investigation on his breathing rate before and after exercising.
He recorded his results in the table below.

Breathing rate at-rest Breathing rate immediately. after
{number of inhalations every minute) exercising _
: (number of inhalations every minute)
25 50

What was Jason trying to find out from his investigation? [1]

How coUl_d Jason make his in‘vest[gatlon fmore accurate?” ]

The diagram beloWw shows a plant cell.

A scientist wanted to insert some genetic material that wouid enable the plant cell
above to make a new substance T on its own.

in the diagram above, draw an arrow to show the part of the cell that he should
insert the genetic material. 1.

Name the part which you have indicated. : l [11
It was discovered that Substance T couild not get out of the cell.

Which part of the ‘cell could have stopped T from getting out of it? [1]

-

28 : 5




'4.4. The three groups of plants below are on display in Alice’s class.

Coconut.
Pong Pong

Shorea
Angsana

Love grass
Watermelon

Group A Group B Group C

Alice found the plant below and wanted to include them in the class display.

(a) In which grelip should she put the plant? Explain your answer clearly. [2}
(b) Why do plants disperse their seeds? _ : [2]
(c) What do seeds need to germinate? {1]

29
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31)a)It must be dark and damp.

b)Earthworm.

c)The population of organism A will decrease as it is too dry, but it is
already adapted to a dark and damp place.

32)a)The population of lions decreased. '

b)Yes, the plant population has an effect on the populatnon of lions. If the
plant population decreases, the herbivores wotlld compete with each other for
food and some of them may die out of hunger. When the population of the
herbivores decreases, the lions will have lesser food and they may also end up
competing with food too, so the population of the lions decrease.

F 3

33)a)

Y

b)They become immune to the pesticide.

Page L to 3 page 1




34)a)Bell jar B and E are the same except for the variable water.
b)}Nutrients carbon dioxide.

35)a)1)The water plants provide oxygen for the fish by photosynthesizing.
2)The water plants provide food for the fish.
b)She should not place the fish into Amy’s aquarium. The small fish caught

might not adapt to the freshwater because its adaptation is to live in seawater,
not freshwater, so it may die.

36) B/A\

>
'b

37)a)lt is a pond community.
bli)Algae ii)Tilapia
c)The guppy, water flea and the tadpole population will decrease.

38)a)i)They have deep and'long_ roots to reach for underground.
if)They have shallow roots that spread out to ahsorb as much water as

possible when there is a occasional rainfall.
b)Its eyelashes helps to prevent the dust from entering its eye.

39)Long hands / It allows the monkey to swing from tree to tree.
Think layer of fats / It prevents heat insulation in order for the polar bear

to feel warm.

40)a)Danny could sprinkle some salt to the crushed ice.

b)It turns from liquid to solid.
c)Heat from the water was lost to the crushed ice and salt mixture

causing it to change from the liquid state to the solid state.

41
) Fan
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42)a)He was trying to find out if exercising affects the breathing rate the
effect of exercising on one’s breathing rate.

b)He could collect at least 3 data readings and take the average of the
data collected.

43}a)

b)It is the cell membrane.

44)a)Group B. The fruit has hair to float in the air.

b)It is to prevent overcrowding so that the young plant does not compete
with its parent plant for space, water, sunlight and nutrients.

c)They need air, water and warmth to germinate.
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